AV /N

BEMRFE: FTRERER
T A% KIG  FREAFERRKE

H B HAE 48 58 6H 78 8H 9/ 108 118 128 18 2R 38
B (°c) 125 145 19.8 30.7 232 21.7 19.2 13.0 6.8 8.0 15 5.1
KR () 125 178 20.0 228 26.2 25.0 233 175 138 98 78 95
RBIER (mg/L) 0.3 0.3 0.2 0.2 0.2 0.1 0.1 0.2 0.2 0.4 0.3 0.3
i |[—HEHEE 100fE/mLEL T 0 0 0 0 0 0 0 0 0 0 0 0
#2 | KIBE BHINGWNIE =33 =33 =3k =3k =3k =33 =3k =33 =3k =33 =3k =3k
H3 [AFEVLRUZDIEEY 0.003mg/LELT - <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 —
4 [KEBRUZDIEEY 0.0005mg/LLLTF — <0.00005 — — <0.00005 — — <0.00005 — — <0.00005 —
5 [LLURUZDIEED 0.01mg/LIATF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
He [SARUZDILED 0.01mg/LIATF — <0.001 — — <0.001 — — <0.001 — — <0.001 —
£ |ERRUZDEED 0.01mg/LATF — 0.003 — — 0.003 — — 0.003 = = 0.003 =
Hg |KfTyALLEY 0.05mg/LIATF — <0.005 — — <0.005 — — <0.005 — — <0.005 —
Ho |EBHBEER 0.04mg/LLL T = <0.004 = - <0.004 = - <0.004 — — <0.004 —
H10 | T A U RUEIES T 0.01mg/LELTF = <0.001 = - <0.001 = - <0.001 — — <0.001 —
Hi1 |HREERRUEHBEER 10mg/LIATF = <0.1 = - <0.1 = - <0.1 — — <0.1 —
212 |7vRRUZDILED 0.8mg/LELT — 0.07 — — 0.08 — — 0.07 = - 0.08 -
H13 |ROVRRUZDILEY 1.0mg/LEATF - 0.2 — — 0.2 — — 0.2 = = 0.2 =
H14 (EIEERER 0.002mg/LEL T — <0.0002 — — <0.0002 — — <0.0002 — — <0.0002 —
15 [14-SAFH> 0.05mg/LLA T = <0.005 = — <0.005 — — <0.005 — - <0.005 —
16 :;;71_21_2’_7/']5;;1";&0 0.04mg/LLAF - <0.002 - - <0.002 - - <0.002 - - <0.002 -
17 [ynoray 0.02mg/LLLF - <0.001 — — <0.001 — — <0.001 - - <0.001 —
18 [TRSYOBIFLY 0.01mg/LLLF - <0.001 — — <0.001 — — <0.001 - - <0.001 —
19 [FUYOOIFLY 0.01mg/LLLF - <0.001 — — <0.001 — — <0.001 - - <0.001 —
£Ho0 |[RvEY 0.01mg/LIAT - <0.001 — — <0.001 — — <0.001 - - <0.001 —
Ho1 |IEHRE 0.6mg/LELF - 0.07 - - 0.10 - - 0.11 - - 0.14 —
#H2o |VOOEER 0.02mg/LIAT - <0.002 - - <0.002 - - <0.002 - - <0.002 -
#23 [yBAKRILL 0.06mg/LLLF - 0.003 = = 0.004 - — 0.003 — — 0.003 —
Hoa4 |DUDOEFE 0.03mg/LIATF — <0.002 — — <0.002 — — <0.002 — — <0.002 —
Hos |[CTOES/OOARY 0.1mg/LELTF = 0.026 = - 0.026 — — 0.021 — — 0.023 —
Hoe [RHREE 0.01mg/LAT - <0.001 — = <0.001 = = <0.001 = - <0.001 =
27 [#BRUNOAEY 0.1mg/LELF = 0.069 = = 0.074 — — 0.058 — — 0.060 —
Hog |M)yOOEER 0.03mg/LIATF — <0.002 — — <0.002 — — <0.002 — — <0.002 —
29 [JOESH/OOAZY 0.03mg/LLLF = 0.009 - = 0.010 — — 0.008 — — 0.008 —
#30 [TRERILL 0.09mg/LELF = 0.031 = = 0.034 — — 0.026 — — 0.026 —
H31 |RILLATZILTER 0.08mg/LELF — <0.008 — — <0.008 — — <0.008 — — <0.008 —
H32 |ESRRUZDIEED 1.0mg/LLLT - <0.01 - - <0.01 - - <0.01 — - <0.01 —
H33 |[FILZ =V LRUVZDIEEY 0.2mg/LUTF - <0.02 — - <0.02 — — <0.02 — — <0.02 —
H34 (HRUVZDIEED 0.3mg/LULTF — <0.03 — — <0.03 — — <0.03 — — <0.03 —
£#35 |TARVZDILEY 1.0mg/LELTF — <0.01 — — <0.01 — — <0.01 — — <0.01 —
#36 | TPV LRUZDIEEY 200mg/LELTF - 39 — — 38 — — 39 - = 40 -
37 [RUHVRUZDIEEY 0.05mg/LIATF — <0.005 — — <0.005 — — <0.005 — — <0.005 —
38 &L A 200mg/LELTF 482 495 473 495 489 49.1 496 485 492 54.7 48.4 49.1
39 [AYh 5 2L %E (FEE) 300mg/LEATF - 94 — — 93 — — 95 - - 96 -
Ha0 |REZEY 500mg/LLLTF - 251 = - 264 = = 252 — — 234 —
Hat (B4 REFEEH 0.2mg/LUTF - <0.02 — = <0.02 - = <0.02 = — <0.02 —
H42 [PxARIY 0.00001mg/LLTF — — <0.000001 <0.000001 <0.000001 <0.000001 — — — — — —
HA3 (2-AFAVK WRE=I 0.00001mg/LLLTF — — <0.000001 <0.000001 <0.000001 <0.000001 — — — — — —
Haa (A4 REFMEH 0.02mg/LULTF — <0.005 — — <0.005 - - <0.005 - = <0.005 -
Ha5 (Jz/—ILEE 0.005mg/LIATF - <0.0005 — - <0.0005 — - <0.0005 — — <0.0005 —
Hap [AHM(2ARRRTOCONDE) 3mg/LLLTF 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4 0.4
£47 |pHIE 580 E8.6LLT 7.9 79 79 8.0 7.9 79 78 79 7.9 7.1 7.9 7.9
a8 |k BEETHNIL BETEAL| BETEAV| BETEAV| BETEAV| BRcran| Bgcaan| Bxcaan| Bxcaan| Bxcran| BRcran] BRcran] BERcddan
Ha9 [BR BETHINIE BETEAL| BETEAV| BETEAV| BETEA0| BEcran| Bcaan| B Bxcaan| Bxcran| BRcran] BRcran] BERcddan
Hs50 |BE S5ELT <05 <05 <05 <05 <05 0.5 <05 <05 <05 <05 <05 <05
51 | BE 2ELUT <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
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